

Arif H. HEYDAROV, Mahammad N. MAMEDOV

## SPECTRAL ANALYSIS OF STURM-LIOUVILLE OPERATOR ON A SEMI-AXIS WITH $\delta'$ -POTENTIAL

### Abstract

*In the paper, the self-adjointness of the operator  $A = -\frac{d^2}{dx^2} + \beta\delta'(x - x_0)$  in the space  $L_2(0, +\infty)$  is proved. It is shown that the limit spectrum of the operator  $A$  coincides with the absolutely continuous part of its spectrum. The integral property of the resolvent of the operator  $A$  is proved and an explicit expression for the integral kernel is obtained.*

In the present paper we prove the self-adjointness and investigate the spectrum of the operator  $-\frac{d^2}{dx^2} + \delta'(x - x_0)$  in the space  $L_2(0, +\infty)$ , where  $\delta(x - x_0)$  is Dirac's function at the point  $x_0 \in (0, +\infty)$ ,  $\delta'(x - x_0)$ , is a generalized derivative  $\beta \in (-\infty, +\infty)$ .

Spectral analysis of Sturm-Liouville operator with  $\delta'$ -potential has a great importance for the problems of quantum mechanics [1].

In [2-4], some spectral properties of Sturm-Liouville operator on a semi-axis with pointwise  $\delta$  and  $\delta'$ -interactions are studied.

Our approach on definition of the operator  $-\frac{d^2}{dx^2} + \beta\delta'(x - x_0)$  in the space  $L_2(0, +\infty)$  is based on the formula of multiplication of  $\delta'(x - x_0)$  by discontinuous functions  $f(x)$  for which  $f(x)$  and its classic derivative  $f'(x)$  have at the point  $x_0$  discontinuities of first kind. This multiplication formula has the following form [5]:

$$\begin{aligned} \delta'(x - x_0)f &= -\frac{1}{2} [f'(x_0 + 0) + f'(x_0 - 0)] \delta(x - x_0) + \\ &+ \frac{1}{2} [f(x_0 + 0) + f(x_0 - 0)] \delta'(x - x_0). \end{aligned} \tag{1}$$

Denote by  $D(A)$  the set of functions  $f \in W_2^2((0, +\infty) \setminus \{x_0\})$  satisfying the boundary conditions

$$\begin{aligned} f(0) &= 0, \quad (\beta - 2)f(x_0 + 0) + (\beta + 2) \cdot f(x_0 - 0) = 0, \\ (\beta + 2) f'(x_0 + 0) &+ (\beta - 2) \cdot f'(x_0 - 0) = 0. \end{aligned} \tag{2}$$

Determine in the space  $L_2(0, +\infty)$  the operator  $A$  :

$$Af = -\frac{d^2 f}{dx^2} + \beta\delta'(x - x_0) \cdot f, \quad f \in D(A),$$

where  $\frac{d^2 f}{dx^2}$  is a generalized derivative of first order of the function  $f \in D(A)$ , the product  $\delta'(x - x_0) \cdot f$  is determined by formula (1).

By conditions (2), the operator  $A$  is a closed symmetric operator in the space  $L_2(0, +\infty)$ .

**Theorem 1.** *The operator  $A$  is self-adjoint operator in the space  $L_2(0, +\infty)$ . The resolvent  $R_z(A) = (A - zE)^{-1}$  of the operator  $A$  is an integral operator in  $L_2(0, +\infty)$  and the integral kernel  $K(x, y; z)$  for  $z = -\lambda^2 \in \rho(A)$  has the representation*

$$\begin{aligned} K(x, y; -\lambda^2) &= G(x, y; -\lambda^2) + \frac{\beta}{2\Delta} \times \\ &\times \left\{ \left[ \left( 2 - \beta e^{-2\lambda x_0} \right) G_1(x, y; -\lambda^2) - \beta \lambda (e^{-2\lambda x_0} + 1) G(x_0, y; -\lambda^2) \right] - \right. \\ &\quad - G(x, x_0; -\lambda^2) + \left[ \left( 2 - \beta e^{-2\lambda x_0} \right) G(x_0, y; -\lambda^2) - \right. \\ &\quad \left. \left. - \frac{\beta}{\lambda} (e^{-2\lambda x_0} - 1) G_1(x_0, y; -\lambda^2) \right] G_2(x, x_0; -\lambda^2) \right\}, \end{aligned} \quad (3)$$

where

$$\begin{aligned} G(x, y; -\lambda^2) &= \begin{cases} \frac{1}{\lambda} sh \lambda x \cdot e^{-\lambda y}, & 0 < x < y, \\ \frac{1}{\lambda} sh \lambda y \cdot e^{-\lambda x}, & y < x, \end{cases} \\ G_1(x, y; -\lambda^2) &= \begin{cases} ch \lambda x \cdot e^{-\lambda y}, & 0 < x < y, \\ -sh \lambda y \cdot e^{-\lambda x}, & y < x, \end{cases} \\ G_2(x, y; -\lambda^2) &= \begin{cases} -sh \lambda x \cdot e^{-\lambda y}, & 0 < x < y, \\ ch \lambda y \cdot e^{-\lambda x}, & y < x, \end{cases} \\ \Delta &= 1 + \frac{\beta^2}{4} - \beta e^{-2\lambda x_0}. \end{aligned}$$

**Proof.** Since  $A$  is a closed symmetric operator, then for proving the self-adjointness of the operator  $A$  it suffices to show that the resolvent set of this operator contains real numbers ([6] Corollary of theorem X.1).

Find the resolvent of the operator  $A$ . To this end we solve in the space  $L_2(0, +\infty)$  the equation

$$-\frac{d^2 f}{dx^2} + \beta \delta'(x - x_0) \cdot f + \lambda^2 f = g \quad (\lambda > 0, g \in L_2(0, +\infty)). \quad (4)$$

Taking into account formula (1), we write equation (4) in the following form

$$\begin{aligned} -\frac{d^2 f}{dx^2} + \lambda^2 f &= \frac{\beta}{2} [f'(x_0 + 0) + f'(x_0 - 0)] \delta(x - x_0) - \\ &- \frac{\beta}{2} [f(x_0 + 0) + f(x_0 - 0)] \delta'(x - x_0) + g(x). \end{aligned} \quad (5)$$

Let  $G(x, y; -\lambda^2)$  be a fundamental solution of the operator  $-\frac{d^2}{dx^2} + \lambda^2$  in  $(0, +\infty)$ . It is known that

$$G(x, y; -\lambda^2) = \begin{cases} \frac{1}{\lambda} sh \lambda x \cdot e^{-\lambda y}, & 0 < x < y, \\ \frac{1}{\lambda} sh \lambda y \cdot e^{-\lambda x}, & y < x. \end{cases} \quad (6)$$

Applying  $\left(-\frac{d^2}{dx^2} + \lambda^2\right)^{-1}$  to both sides of equation (5), we get

$$f(x) = \frac{\beta}{2} [f'(x_0 + 0) + f'(x_0 - 0)] G(x, x_0; -\lambda^2) + \frac{\beta}{2} [f(x_0 + 0) + f(x_0 - 0)] G'_y(x, x_0; -\lambda^2) + \int_0^{+\infty} G(x, y; -\lambda^2) g(y) dy. \quad (7)$$

Here we used the equalities

$$G(x, y; -\lambda^2) * \delta(x - x_0) = G(x, x_0; -\lambda^2)$$

$$G(x, y; -\lambda^2) * \delta'(x - x_0) = -G'_y(x, x_0; -\lambda^2).$$

From (6) we find

$$G(x, x_0; -\lambda^2) = \begin{cases} \frac{1}{\lambda} sh \lambda x \cdot e^{-\lambda x_0}, & 0 < x < x_0, \\ \frac{1}{\lambda} sh \lambda x_0 \cdot e^{-\lambda x}, & x_0 < x, \end{cases} \quad (8)$$

$$G'_y(x, x_0; -\lambda^2) = \begin{cases} -sh \lambda x \cdot e^{-\lambda x_0}, & 0 < x < x_0, \\ ch \lambda x_0 \cdot e^{-\lambda x}, & x_0 < x. \end{cases} \quad (9)$$

Find the quantities  $f(x_0 + 0) + f(x_0 - 0)$  and  $f'(x_0 + 0) + f'(x_0 - 0)$ . Passing to limit in (7) as  $x \rightarrow x_0 + 0$  and  $x \rightarrow x_0 - 0$ , and putting together the obtained equalities, using relations (8) and (9), we get:

$$\left(1 - \frac{\beta}{2} e^{-2\lambda x_0}\right) [f(x_0 + 0) + f(x_0 - 0)] + \frac{\beta}{2\lambda} (e^{-2\lambda x_0} - 1) \times \times [f'(x_0 + 0) + f'(x_0 - 0)] = 2 \int_0^{+\infty} G(x_0, y; -\lambda^2) g(y) dy. \quad (10)$$

Calculate the derivative  $f'(x)$  for  $x \neq x_0$ . From (7) we find

$$f'(x) = \frac{\beta}{2} [f'(x_0 + 0) + f'(x_0 - 0)] G'_x(x, x_0; -\lambda^2) + \frac{\beta}{2} [f(x_0 + 0) + f(x_0 - 0)] G''_{yx}(x, x_0; -\lambda^2) + \int_0^{+\infty} G'_x(x, y; -\lambda^2) g(y) dy. \quad (11)$$

Obviously,

$$G'_x(x, y; -\lambda^2) = \begin{cases} ch \lambda x \cdot e^{-\lambda y}, & 0 < x < y, \\ -sh \lambda y \cdot e^{-\lambda x}, & y < x, \end{cases} \quad (12)$$

$$G''_{yx}(x, x_0; -\lambda^2) = \begin{cases} ch \lambda x \cdot e^{-\lambda x_0}, & 0 < x < x_0, \\ -sh \lambda x_0 \cdot e^{-\lambda x}, & x_0 < x, \end{cases} \quad (13)$$

[A.H.Heydarov, M.N.Mamedov]

$$G''_{yx}(x, x_0; -\lambda^2) = \begin{cases} -\lambda ch \lambda x \cdot e^{-\lambda x_0}, & 0 < x < x_0, \\ -\lambda ch \lambda x_0 \cdot e^{-\lambda x}, & x_0 < x. \end{cases} \quad (14)$$

Pass in (11) to limit as  $x \rightarrow x_0 + 0$  and  $x \rightarrow x_0 - 0$ , put together the obtained equalities. Then using (13) and (14), after simple transformations we get

$$\begin{aligned} & \frac{\beta\lambda}{2} \left( e^{-2\lambda x_0} + 1 \right) [f(x_0 + 0) + f(x_0 - 0)] + \left( 1 - \frac{\beta}{2} e^{-2\lambda x_0} \right) \times \\ & \times [f'(x_0 + 0) + f'(x_0 - 0)] = 2 \int_0^{+\infty} G'_x(x_0, y; -\lambda^2) g(y) dy. \end{aligned} \quad (15)$$

Then, we solve the system of linear equations (10), (15) by the Cramer principle and find the quantities  $f(x_0 + 0) + f(x_0 - 0)$  and  $f'(x_0 + 0) + f'(x_0 - 0)$ . Substituting the found expressions in (7), after simple transformations we get

$$f(x) = \int_0^{+\infty} K(x, y; -\lambda^2) g(y) dy, \quad (16)$$

where

$$\begin{aligned} & K(x, y; -\lambda^2) = G(x, y; -\lambda^2) + \\ & + \frac{\beta}{2\Delta} \left\{ \left[ \left( 2 - \beta e^{-2\lambda x_0} \right) G_1(x, y; -\lambda^2) - \beta\lambda \left( e^{-2\lambda x_0} + 1 \right) G(x_0, y; -\lambda^2) \right] - \right. \\ & \quad - G(x, x_0; -\lambda^2) + \left[ \left( 2 - \beta e^{-2\lambda x_0} \right) G(x_0, y; -\lambda^2) - \right. \\ & \quad \left. \left. - \frac{\beta}{2} \left( e^{-2\lambda x_0} - 1 \right) G_1(x_0, y; -\lambda^2) \right] G_2(x, x_0; -\lambda^2) \right\} \\ & G_1(x, y; -\lambda^2) \equiv G'_x(x, y; -\lambda^2) = \begin{cases} ch \lambda x \cdot e^{-\lambda y}, & 0 < x < y, \\ -sh \lambda y \cdot e^{-\lambda x}, & y < x, \end{cases} \\ & G_2(x, y; -\lambda^2) \equiv G'_y(x, y; -\lambda^2) = \begin{cases} -sh \lambda x \cdot e^{-\lambda y}, & 0 < x < y, \\ ch \lambda y \cdot e^{-\lambda x}, & y < x. \end{cases} \end{aligned}$$

$\Delta$  is the determinant of the considered system of linear equations

$$\Delta = \Delta(\lambda) = \begin{vmatrix} 1 - \frac{\beta}{2} e^{-2\lambda x_0} & \frac{\beta}{2\lambda} (e^{-2\lambda x_0} - 1) \\ \frac{\beta\lambda}{2} (e^{-2\lambda x_0} + 1) & 1 - \frac{\beta}{2} e^{-2\lambda x_0} \end{vmatrix} = 1 + \frac{\beta^2}{4} - \beta e^{-2\lambda x_0}. \quad (17)$$

It is easy to show that  $\Delta(\lambda) \neq 0$  for  $\lambda \in (0, +\infty)$ ,  $\beta \in (-\infty, +\infty)$ . From (13) it follows that for the fixed  $\lambda = \lambda_0 > 0$  and  $\beta = \beta_0 \in (-\infty, +\infty)$  it is valid the estimation

$$\sup_{x \in (0, +\infty)} \int_0^{+\infty} |K(x, y; -\lambda_0^2)| dy = M < +\infty.$$

uniform with respect to  $y \in (0, +\infty)$ .

Hence and from (16) we get

$$\|f\|_{L_2} \leq M \|g\|_{L_2},$$

where  $\|\cdot\|_{L_2}$  is a norm in the space  $L_2(0, +\infty)$ .

Consequently,

$$R_{-\lambda_0^2}(A)f = (A + \lambda_0^2)^{-1}g(x) = \int_0^{+\infty} K(x, y; -\lambda_0^2)g(y)dy. \quad (18)$$

Thus, the real number  $-\lambda_0^2$  belongs to the resolvent operator  $A$ , i.e.  $-\lambda_0^2 \in \rho(A)$ .

Therefore,  $A$  is a self-adjoint operator in  $L_2(0, +\infty)$  ([6], Corollary of theorem X.1). By (19), the resolvent  $R_z(A)$  for  $z = -\lambda^2 \in \rho(A)$  is an integral operator in the space  $L_2(0, +\infty)$ . Theorem 1 is proved.

The structure of the spectrum of the operator  $A$  is described by the following theorem.

**Theorem 2.** *The limit spectrum of the operator  $A$  coincides with the absolutely continuous part of its spectrum, more over*

$$\sigma(A) = \sigma_{ess}(A) = \sigma_{ac}(A) = [0, +\infty]. \quad (19)$$

*The resolvent set  $\rho(A) = \{z : z \in C \setminus [0, +\infty]\}$ .*

*The operator  $A$  has no eigen values.*

**Proof.** Equality (19) is proved by means of the standard procedure that is usually used by investigating such problems. Weyl's theorem on limit (essential) spectrum ([7], theorem XIII.14) and the theorem on preservation of absolutely continuous parts of the spectra of perturbed and unperturbed operators ([8], ch.X, theorem 42) are used. Application of these theorems reduce to equalities (19).

Show that operator  $A$  has no eigen values. For that it suffices to show that the equation

$$1 + \frac{\beta^2}{4} - \beta e^{-2\lambda x_0} = 0 \quad (20)$$

has no positive solutions.

Obviously, for  $\beta \leq 0$  equation (20) has no solutions. Let  $\beta > 0$ . In this case equation (20) has the solution

$$\lambda = -\frac{1}{2x_0} \ln \left( \frac{1}{\beta} + \frac{\beta}{4} \right).$$

Since  $x_0 > 0$ , then condition  $\lambda > 0$  is equivalent to the inequality  $\ln \left( \frac{1}{\beta} + \frac{\beta}{4} \right) < 0$ . The last inequality is contradictory, since for any  $\beta > 0$  it holds the inequality  $\frac{1}{\beta} + \frac{\beta}{4} > 1$ . Consequently, equation (20) has no positive solutions.

This means that the operator has no eigen values.

Obviously,  $\rho(A) = \{z : z \in \setminus [0, +\infty)\}$ . Theorem 2 is proved.

The main results of this paper were announced by the authors in [9].

## References

- [1]. Albeverio S., Gosztesy F., Hoegh-Krohn R., Holden H. *Solvable models in quantum mechanics*. M.: Mir, 1991, 568 p. (Russian)
- [2]. Ismagilov R.S., Kostyuchenko A.G. *On asymptotic of Sturm-Liouville operator with pointwise interaction* // DAN, 2010, vol. 433, No5, pp. 596-598. (Russian)
- [3]. Kostenko A.S., Malamud M.M. *On Schrodinger's one-dimensional operator with  $\delta$ -interactions*. Funk. Analiz I ego prilozhen., 2010, vol. 44, issue 2, pp. 87-91. (Russian)
- [4]. Kostenko A.S., Malamud M.M. *Schrodinger operator with  $\delta'$ -interactions and Krein-Stieltjes string* // DAN, 2010, vol. 432, No1, pp. 12-17. (Russian)
- [5]. Heydarov A.H. *On products of generalized functions and discontinuous functions* // Vestnik Bakinskogo Univer. Ser. Fiz.-mat. Nauk, 2008, No1, pp. 13-19. (Russian)
- [6]. Ried M., Saimon B. *Methods of contemporary mathematical physics*. M.: Mir, 1978, vol.2, 395 p. (Russian)
- [7]. Ried M., Saimon B. *Methods of contemporary mathematical physics*. M.: Mir, 1982, vol.4, 428 p. (Russian)
- [8]. Kato T. *Theory of perturbations of linear operators*. M.: Mir, 1972, 740 p. (Russian)
- [9]. Heydarov A.H., Mamedov M.N. *Spectrum of Schrodinger one-dimensional operator on semi-axis with  $\delta'$ -potential* / International Russia-Azerbaijan Symposium "Mixed type equations and related problems of analysis and information science", Nalchik-Elbrus, 2008, pp. 52-53. (Russian)

**Arif H. Heydarov, Mahammad N. Mamedov**

Baku State University

23, Z.I. Khalilov str., AZ 1148, Baku, Azerbaijan

Tel.: (99412) 539 47 20 (off.).

E-mail: arif\_heydarov@mail.ru

Received September 04, 2012; Revised November 28, 2012